
1. Email *

2.

3.

PROVA V02 TEST INGLESE

E' RICHIESTA UNA SOLA RISPOSTA PER OGNI DOMANDA. LE 3 OPZIONI PROPOSTE SONO TUTTE PRECEDUTE DA UN CODICE 
ALFANUMERICO DI 3 LETTERE E DA UN TRATTINO (-). TEMPO A DISPOSIZIONE: 20 minuti

Prova V02 per selezione in Lepida Scpa 33_2024D8.
Avviso di Selezione pubblica per l’assunzione a tempo pieno e indeterminato di 1 posizione per il Dipartimento Azioni 
Strategiche & Speciali in Lepida ScpA

* Indica una domanda obbligatoria

COGNOME *

NOME *
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4.

Contrassegna solo un ovale.

HBVN - will have

LXJP - will

JAJP - have

5.

Contrassegna solo un ovale.

JETW - working

OHMF - work

NJKE - to work

6.

Contrassegna solo un ovale.

DLSB - would have

MVMQ - would

QZWJ - will have

By the time you arrive, we ___ already finished dinner. *

Despite ___ very hard, she didn’t get the promotion. *

Had she known about the traffic, she ___ left earlier. *
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7.

Contrassegna solo un ovale.

TBQN - since

CDGV - for

FIUF - when

8.

Contrassegna solo un ovale.

LJEQ - Cities with higher pollution suffer from worse air quality.

HTNE - Cities with higher pollution suffers from worse air quality.

RATG - Cities which higher pollution suffer from worse air quality

9.

Contrassegna solo un ovale.

CSJE - I prefer staying in to going out tonight.

ARGU - I might go out tonight.

SRKJ - I’d rather go out tonight.

He has been working here ___ he graduated from college. *

Choose the right one: *

Which of the following sentences has the same meaning as "I’d rather stay in than go out tonight."? *
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10.

Contrassegna solo un ovale.

UKIO - Pollution levels are affected by wind and temperature.

RPNR - Pollution level affected by temperature and wind.

OPAG - Pollution levels is affected by wind and temperature.

11.

Contrassegna solo un ovale.

VLWZ - Air in cities is sometimes more polluted than in rural areas.

VBWQ - The air sometimes is more polluted in cities than rural areas.

ODRJ - The air in cities sometimes being more polluted than in rural areas.

12.

Contrassegna solo un ovale.

RMEW - Emissions that are unregulated can affect everyone’s health.

AZCW - Emissions unregulated can affects everyone’s health.

XYAN - Emissions that unregulated can affect health of everyone.

Choose the right one: *

Choose the right one: *

Choose the right one: *
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13.

Contrassegna solo un ovale.

CWHY - the room

VKMG - from the room

TRRO - out

14.

Contrassegna solo un ovale.

QHJW - did he miss

KNGE - he did miss

HWWI - he missed

15.

Contrassegna solo un ovale.

CXYG - improves

ZOOZ - improve

DWHO - improved

She left ___ in a hurry *

Not only ___ the meeting, but he also forgot his laptop. *

Installing air filters in buildings ____ the indoor air quality. *
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16.

Contrassegna solo un ovale.

MNYG - often

XJKX - frequent

APLA - oftenly

17.

Contrassegna solo un ovale.

PAOP - provide

MOND - providing

UIBH - provides

18.

Contrassegna solo un ovale.

ZKEF - accurately

MOGB - accuracy

XPGY - accurate

Digital twins are ____ used to simulate manufacturing processes. *

Digital twins ____ valuable insights for predictive maintenance. *

The goal of digital twins is to ____ predict outcomes based on data. *
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19.

Contrassegna solo un ovale.

VXWO - Please try to send the report by tomorrow.

YIBX - You must send the report by tomorrow.

ROJI - Don’t send the report until tomorrow.

20.

Contrassegna solo un ovale.

BAUR - simulate

PFMK - simulated

MWWW - simulation

21.

Contrassegna solo un ovale.

QMJU - strongly

OIYY - strong

NPRA - weakly

Which of the following sentences has the same meaning as "I’d appreciate it if you could send me the
report by tomorrow."?

*

Engineers use digital twins to ____ physical assets without direct interference. *

A high level of air pollution is ____ associated with respiratory diseases. *
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22.

Contrassegna solo un ovale.

TBQJ - People started clapping as soon as she stopped talking.

YAQF - The applause started long after she finished speaking.

EGDI - The applause started before she finished talking.

23.

Contrassegna solo un ovale.

JBIC - Despite emissions control, pollution can still increase.

BRWB - Despite emission controls, pollution still increases.

FPVV - Despite emissions controlling, pollution increase still.

Questi contenuti non sono creati né avallati da Google.

Which of the following sentences has the same meaning as "She had barely finished speaking when the
applause began."?

*

Choose the right one: *

 Moduli
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